
E
d 

: 
R

ev
 : 

 
 C

od
 : 

INSTRUCTION

 01
/2

5
G

R
LD

TO
O

R
X

S
R

X
85

00
00



4 

EXPLODED-VIEW & PARTS LIST： 



5 



6 



7 

FIG.1 

ASSEMBLY INSTRUCTION: 

1.PREPARATION:

A. Before assembling make sure that you will have enough space around the item.

B. Use the present tooling for assembling.

C. Before assembling please check whether all needed parts are available (at the above

of this instruction sheet you will find an explosion drawing with all single parts (marked

with numbers) which this item consists of.

2.ASSEMBLY INSTRUCTION:

: 

FIG.2 

FI G.2: 

Slide the Vertical Seat Post (pt.10) into 

the seat post housing on the main 

frame (pt.16). And then release the 

round nut  , Then slide the Seat Post 

(pt.12) into the Vertical Seat Post 

(pt.10),Then fixing the bolt8 (pt.25)，You 

will have to slacken the knurled section 

of the Adjustment Knob (pt.42) and pull 

the knob back and then select  the 

desired height. Release the knob and 

retighten the knurled portion. 

Now fix the Seat (pt.13) to the Seat 

Post (pt.12) as shown, and tighten the 

bolts around the screws under the 

seat. 

FIG.1: 

Attach the Front Stabilizer (pt.15) to the 

Main Frame (pt.16) using two sets of 

Ø8 Flat Washers (pt.5), M10 Domed 

Nut (pt.6) and M10*55 Carriage bolt (3). 

Attach the Rear Stabilizer (pt.4) to the 

Main Frame (pt.16) using two sets of 

Ø10 Flat Washers (pt.5), M10 Domed 

Nut (pt.6) and M10*55 Carriage bolt (3). 

Fixing the bottle holder (pt.74) to the 

main frame (pt.16) with the screw 

(pt.43).  



8 

FIG.3 

FIG.3: 

Slide the Handlebar Post (pt.17) into the 

handlebar post housing on the main 

frame(pt.16).  

Then fix the Handlebar (pt.18) with a flat 

SPRING WASHER (pt.89) and BOLT 

(pt.90). 

ATTENTION: YOU SHOULD FIX THE 

HANDLEBAR TIGHTLY 

FIG.4: 

The Pedals (pt.1 L & pt.1 R) are 

marked "L" and "R" - Left and Right. 

Connect them to their appropriate 

crank arms. The right crank arm is on 

the right- hand side of the cycle as you 

sit on it. 

Note that the Right pedal should be 

threaded on clockwise and the Left 

pedal anticlockwise. 

FIG.4 



9 

A.) Adjusting the Tension: 

Increasing or decreasing the tension 

allows you to add variety to your 

workout sessions by adjusting 

the resistance level of the bike. 

To increase tension and increase 

resistance (requiring more strength to 

pedal), turn the Emergency 

Brake & Tension Control Knob (#30) 

to the right. 

To decrease tension and increase 

resistance (requiring less strength to 

pedla), turn the Emergency 

Brake & Tension Control Knob (#30) 

to the left.B.) Using the Emergency 

Brake Function: 

The same knob that allows you to 

adjust the tension of the bike also 

doubles as the Emergency 

Brake. Use this safety feature in any 

situation where you would need to get 

off the bike and/or 

stop the bike’s flywheel. 

To use the Emergency Brake function 

in any situation you would need it in, 

firmly press down 

on the Emergency Brake & Tension 

Control Knob (#30). 



ADJUSTMENT 

*To adjust the seat height, slacken the spring knob on the vertical post

stem on the main frame and pull back the knob. Position the vertical  

seat post for the desired height so that holes are aligned, then release 

the knob and retighten it. 

*To move the seat forward in the direction of the handlebar or

backwards away from it, loosen the adjusting knob and washer and 

pull the knob back. Slide horizontal seat post into desired position. 

Align holes and then retighten the adjusting knob.  

*To adjust the handlebar height, slacken the spring knob and secondary

knob and pull both knobs back. Slide the handlebar post along the  

housing on the main frame to the desired height and, with the holes 

aligned correctly, tighten the spring adjusting knob and then the  

secondary knob. 



GARLANDO SPA
Via Regione Piemonte, 32 - Zona Industriale D1 

15068 - Pozzolo Formigaro (AL) - Italy
contact@toorxprofessional.it

www.toorxprofessional.it


	SRX8500-PD1915 Manual.pdf
	:
	EXERCISE  INSTRUCTIONS
	MUSCLE TONING
	WEIGHT LOSS

	FIG.1
	FIG.2
	FIG.3
	FIG.4
	FIG.4




